1. x*-9+xy-3y E SA4-E3)5IH?

@ (x+3)(x+3+y) @ (x+3)(x+3-y)
® (x=3)(x=3-y) @) (x-3)(x+3+)
® (x+3)(x=3+y)

‘ (x+3)(x=3)+y(x-3) =(x-3)(x+3+y)
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6xy —8x— 9y + 12 = 2x(3y —4) — 3(3y — 4)
— (20-3)(3y-4)
SLatbtc+d=-2
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W4yl dy -1 =2 - (D2 -4y +1)=x>-(2y-1)?2 =
(x+2y-1)(x—2y+1)

@® a* +2ab + b* = (a+ b)?
@)a? - 2ab + b? = (a - b)?
@)a?-b* = (a+b)(a-b)
@ x>+ (a+b)x+ab=(x+a)(x+b)
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(x+ay+bz)(x—y+cz) 7FHAJT old a + b + ¢ &] FL-2?

©-1 @ ® 2 @ 3 ® 4

B

X2 —y? +dyz - 472 = x2 — (9% — dyz + 47?)
=x% = (y - 22)?
= (x+y—-2z)(x -y +22)

et a=1,b=-2,¢c=29B2 g+ b+ c=10°]|ch




A A4S o851 24 x 27 - 24 x 22 & IHAstA Axtstelet.
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x—y = (V+ \B) - (V- v2) = 242
2=y =(x+y)(x-y) =2V3x2V2 =46
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@® x-1 @ x+1 ® x?-1
@y—z ® y+2
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(=) =xty+2x2—y-2
=x(y+2)-0+2)
=(*-1)(r+2)
=(x+1)(x-1)(y+2)
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®© x+y-4 @ x-2y+4 @ x+2y+2

@x+y+4 ® x+4y+2

-y +4(x-y) =(x+y)(x-y) +4(x-y)
=(x+y+4)(x-y)
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O d-x+y)d-2x+y) @ 4+2x-y)d-x-y)
® d-2x+y)(4+2x+y) @(4+2x—y)(4—2x+y)

® (d+2x+y)(4-2x-y)

42— (2x-y)?=4+2x-y)(4-2x+y)
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= (x+3)? - 4?

= (x+3+2y)(x+3-2y)
CXx+3+2y+x+3-2y=2x4+6
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(F4]) = a® - 12ab + 36b> - 25
= (a—-6b)>-25
= (a—6b+5)(a—6b-5)
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(FA) = (a+b)?>-2(a+b)
—(a+b)(atb-2)
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D 89-312 @ 89-3242 ® 89-33v2
@89—34«/5 ® 89 -35+2
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3x% — 10xy + 3y% = (3x —y)(x - 3y)
= {32+ v2) - (2V2 - 3)}
{2+ v2)-32v2-3)} = (9+ v2) (11-5V2)

=99 -45v2+11v2-10
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O P-x+2x-2=x-1)x*>+2)

@ xy—x-y+1l=(x-1)(y-1)

® xy-2x+y-2=(x+1)(y-2)

@ 32(x+1)-4x+1)=(x+1)(x+2)(x-2)

@ab+1)-(b+1) = 1 -a)(1+b)

®ab+1)-b+1)=(a-1)(b+1)
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832_1 :(23)32_1:296_1
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(£ A) =(2-6)(2+6) + (10 - 14)(10 + 14)
+ (18 — 22)(18 + 22)
+ (26 — 30)(26 + 30)
= —4(2+6+10 + 14 + 18 + 22 4 26 + 30)
=—-4x4x32
= -512
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x4yt = (x-y)* +2xy
6=(x-y)2+3
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Lty =24y (x+y)(x-y)
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(3a + 4b)(3a — 4b) = —12
So3a+4b = -3
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a’>-b?>=(a+b)a-b)=2x(a-b)=10
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@V6+4v2 @ -4z ® 26+ V2
@ 3V6-2v2 ® 4V6-5v2
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=y +dx—dy = (x+y)(x-y) +4(x-Y)
=(x-y)(x+y+4)
= V2(V3+14)
= V6+4vV2




43. x—-y= V5L, x2 - 2xy+y% + 2x -2y -3 9] F2?

D 25 @ 45 ® 1+2+5
@)2 +2+5 ® 3+2V5

x?—2xy+y*+2x—2y-3
=(x-y?+2(x-y)-3
=(V5)?2+2x V5-3=2+25




44. x-y= V2 4 o, x? - 2xy +y? + dx— 4y + 4 | F2?

D 2+4V2 @ 3+4v2 ® 4+4V2
@ 5+442 @6+4\/§

X2 =2xy+y*+4x—4y+4
=(x-y)2+4(x-y)+4
=(V2)2+4V2+4=6+4V2




2, .2
45. X —4xy+4y> =04 o, ug]%,}%? (Fxy#0)
Xy

@ @ ® @

N —
[CIRSY

®

ol o
.

B

| Ot

X —dxy+47 =0, (x=2y)>=0

L x=2y

x2+y2
xy

L A C) Sl i A G )

xy 2y Xy _ﬁ 2

o x =2y & HUsHA




46. a=8+2V2 ¥ W, a® - 16a + 55 9] & oot
£

>
> met: 1

od -

(a-11)(a-5) = (8 +2V2-11)(8 +2V2 - 5)
=(2V2-3)(2V2+3) = -1
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(x=5)(x=3) =(4+ V2-5)(4+ V2-3)
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a® + 2a%b + 2ab* + b® = (a + b)>® — ab(a + b)
ab =2, (a+ 3)(b+3) =20 °|A
2+3(a+b)+9=200°]B2

“a+b=3
“(a+b)®-abla+b)=3>-2x3=21
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(x=y)(x+y+5) =120
T x—y==6
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PPy +x? +y° = (1 +9)° - 2xy(x +y)
(x+2)(y +2) =20, xy =6 °l|A
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2 -y +3x-3y = (x+y)(x-y) +3(x-)
= (x-y)(x+y+3)
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=32 -2-8

= (1-2)(3t+4)
=(a+2-2){3(a+2)+4} =a(3a+ 10)
= (V3+2)(3V3 +16)
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D (x+2y-4)(—x+2y+4) @ (x-2y+4)°
® (x—2y+4)(x+2y-4) @(x—2y+4)(—x+2y+4)

® (—x—2y+4)(x+2y+4)
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16 — (x® - 4xy + 4%) =16 — (x - 2y)°

=42 - (x - 2y)?
={d+x-2y)(4—x+2y)




